Gap fraction

Ratio to ATLAS

7000 GeV pp Jets

2.2 HE ! ! ! | ' ' ' | I I
u Gap fraction vsAy (FB) (90 < pT < 120 (QO0 =pT)) =
2 - —_
B m ATLAS n
1.8 @ Pythia 6.428 346 B
I Pythia 6.428 347 -
1.6 — Pythia 6.428 348 B
L Pythia 6.428 349 .
14— & Pythia 6.428 370 =
1.2 — =
1 E
0.8 — =
0.6 — =
0.4 — =
0.2 — =
N :| | | | | | | | | | | |:
| I I ' [ J T i | { ! =
2 & E
- 1 =
1 I W — :
05 L
| | . | |
0 2 A 5

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


